SGC DROP AXLE

LIFT KIT
FITS EZGO MARATHON, GAS




-~

A

F—Fr I

7

S S o o o o L

5%

LIFT KIT INSTALLATION INSTRUCTIONS \
EZGO MARATHON GAS, 80-94 <

STEERING RISER

FRONT AXLE

" “ ‘ “

COIL SPRING RISER SHOCK EXTENSIONS

.‘\.
SPEC. QrTy. N
HEX BOLT 3/8"-11/2" 1
HEX BOLT 3/8"*16-2" 1 \
NYLON NUT 3/8” 2
HEX BOLT 3/8"*16-2 1/2" 2 %
NYLON NUT 3/8" 2
X
FRONT INSTALLATION s
1. Jack up the front end of the cart and place it on jack stands. You will be installing N
larger wheels and tires so raise the cart high enough to accommodate for the additional height.
2. Remove the tie rod joints from the spindles. “
3. Remove the spindles from the front axle. Clean and lubricate these 4
bolts for the reinstallation of the spindles.
4. Remove the front axle. Clean and lubricate these bolts for the new axle. 1
5. Using the bolts from the old axle install front axle. &
6. Reinstall the spindles to axle.
i
WWW.STEELENGGOLFCART.COM / b

N N N N \ N N N ~ N ~ N N N



P

= F P =Ygy

rFgFEF F F OFKF F F

,

7.

LIFT KIT INSTALLATION INSTRUCTIONS
EZGO MARATHON GAS, 80-94

Install steering riser to the spindle on the passenger

side of the cart. (NOTE: On some models you may need to grind RIGHT

both sides of the spindle for this to fit.) The 1 1/2 bolt goes through the

existing hole in the spindle. The 2” bolt goes through the remaining hole

in the extension. (NOTE: The 2” bolt must be installed with the head

toward the tire.)
8.
Qs
10. Securely tighten all bolts.

11. Install recommended wheel and tire size 22 x 11 x 10 wheels and
tires with a 3+4 offset for maximum performance. NOTE: Your stock
wheels and tires will work but is not recommended!

12. Take the cart off of the jack stands and lower the cart.

Attach the steering rod end to steering extension.

Reattach the tie rods to the spindles.

13. Drive the cart forward 10-20 feet and check the toe-in. (Proper toe-

in should be approximately 1/8” in.)

REAR INSTALLATION

1. Jack up the rear end of the cart and place jack stands on the frame in front of the springs. You will
be installing larger wheels and tires so raise the cart high enough to accommodate the additional
height.

2.

Remove the wheels and tires.

3. Remove the bottom shock bolts. Keep these bolts for mounting the shock extensions.

4. Lower the axle and remove the springs.

5. Place coils spring risers on top of the axle spring mounts which have rubber pads on top.
6.
7
8
9

Replace the springs.

. Bolt rear shock extensions using the stock shock bolts to the original bottom shock mounts.
. Bolt the shocks to the rear shock extensions with the supplied nuts and bolts.

. Double check all nuts and bolts for tightness.

10. Install recommended wheel and tire size 22 x 11 x 10 wheels and tires with a 3+4 offset for
maximum performance. NOTE: Your stock wheels and tires will work but is not recommended!

11. Included is a warning label which is to be placed on the steering column or another visible area
and is to be read by all operators.

WWW.STEELENGGOLFCART.COM

N \ \ \ N N N N N ~ b ~



/Q°

oV RETURN MERCHANDISE AUTHORIZATION

Dear Valued Customer,

Thank you for choosing Steeleng Golf Cart Accessories for your golf cart needs.

We apologize for the issues you are having with your purchase. We strive to offer the absolute best

quality at the absolute best price.

To best serve you, we do need a little information to help process your return and/or exchange faster.

Please complete the following and include this entire form with your return.

Name

Shipped To Address

Purchased with: eBay

This is for EXCHANGE REFUND

Please describe reason for return:-

STATE ZIP

Direct Phone Order

Our Return Address:

Steeleng Golf Cart Accessories
3309 Laurens Road,
Greenville, SC 29607

Tele: 864-675-1103

For Office Use Only:
Received By:

Date

Refund Amount

Exchange Issued

**Steeleng Golf Cart Accessories reserves the right to charge a 15% restocking fee for all returned

and/or exchanged items.



